Short Answer Questions-I (PYQ)

[2 Mark]

B [2 5]
Q.1. Write At for 1l
Ans.
For elementary row operations, we write

a=x = [13]=[35]a
13 01

=1 -; i]:[(l) ;]A |Applying R, < R;|
[ 8 0 1 .
= = A |Applying Ry, — R, - 2R
_ _1] [1 _2] |Applying Ry — R, 1]
[1 @ 3 -5 . :
= = A [Applying R, — R, + 3R,
_ _1] [1 _2] |Applying R, ! 2]
1 o]_
01 -1

[ i _25]A |[Applying Ry — (=1)R;]
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I:[ ‘5]A = A‘=[3 _5]
5 B 12

[Note : Bis called inverse of A, if AB= BA = II
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If A= [ ],writeA"intermsofA.

Q.2.

Ans.
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[\0“’. (,']|=—2. ("'l_‘=_5' (.:_r|=—3'dnd (.,._>_'=2
T 8 —
ade=[““2 “5] =[‘2 3]
-3 2 —5 2
S 1 |2 -3 3 12 3 1
srmgonn [ 342 3]
3 10
IfA= t ', then write A~'.
Q.3. 27
Ans.
Given: A= . 10]
LY o
: T
A 7 ~2] :[7 -10]
| —-10 3 -2 3
Also|Al=21-20=1F#0

Short Answer Questions-I (OIQ)

[2 Mark]
Q.1. If Alis invertible matrix of 3 x 3 and |A| = 7, then find |A7Y|.

Ans.
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|4 = IILAIadj A} = (lLAI) Jadj A]  [~|KA]= K"|A|, where n is order of A
—= X 31 p (e |

2 A -3
A= [0 2 &
Q.2.If 1 1 3 Ithen find the value of A for which A= exists.
Ans

For existence of A"

3 G R
lAl#£0 = |o 2 5 |+#0
11 3

=

(]

(6 -5)-A(0-5)+(-3)(0-2)%#0
=2 2+5A+6%0 =>5A%#-8 =

8
Hence, A can have any value other than —5:

[ cos 6
Q.3. Write the inverse of the matrix - sin 6
Ans
i sl [ cos @ sine]
e —
—sin @ cos @
14| = cos> B +sin?B=1#0
Since, |A| 0
- 1 AdjA
I\O“ A =S T

. [cosﬁ —smO]_[cose — sin @
=i -

sinf cos#@ sinf cosé@
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sin 8
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|Expanding along R, |
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Q.4.If 3 5] and -3 2 satisfying AB =1, then what is the inverse
of A?

AnNS.

Given, AB=1
= A AB)=A"1 = (A'A)B=A"
= IB=A" = B=A"
G [ 5 —3]
=3 2

Q.5. For what value of x, the following matrix is singular?

[5 —Z 2% 1]
2 4
Ans.
: : [5—:1: z+1] .
For matrix being singular
'5 —z z+1 . _0
2 4
= 20-4x-2x-2=0 = 18-6x=0 = 6x=18
= = .].’g_ —
3 4
e l:z 3]
Q.6. If , find A + A', where A' is transpose of A.
Ans.



